

COMMERCIAL INVOICE						
		REFERENCE	CURRENCY	INCO TERMS	DATE	
		10079-4	USD	EXW	12/26/2024	
SHIPPER / EXPORTER	CONSIGNEE					
SUNDARILLC	Bethe Co. Limited					
5445 Oceanus Dr. Ste 106B	DD104 Lot 3722, Pok Wai West Road					
Huntington Beach, CA 92649	Tai Shang Wai, Yuen Long					
United States of America	N.T., Hong Kong SAR					
Tel +1 562 435 5000	8675528511385					
COUNTRY OF ULTIMATE DESTINATION	IMPORTER (IF DIFFERENT FROM CONSIGNEE)					
CHINA	Bethe Co. Limited					
COUNTRY OF MANUFACTURE	Unit 83 3/F Yau Lee Center					
UNITED STATES OF AMERICA	No.45 Hoi Yuen Road Kwun Tong					
INTERNATIONAL AIRWAY BILL NUMBER	Kowloon, Hong Kong SAR					
FULL DESCRIPTION OF GOODS	SKU	ML/G	UNITS	UNIT VALUE	TOTAL VALUE	
CANDLE - AMRUS	70015	170	57	15.40	\$877.80	
CANDLE - GULKAND	70016	170	201	15.40	\$3,095.40	
CANDLE - CHAMELI	70017	170	3	15.40	\$46.20	
TOTAL NUMBER OF PACKAGES	SUB TOTAL \$ 4,019.40					
	LESS 35% DISCOUNT \$ (1,406.79)					
	LESS 5% REIMBURSEMENT \$ (130.63					
	TOTAL INVOICE VALUE \$ 2,481.9				\$ 2,481.98	
These commodities, technology or software were exported from the United States in accordance with I hearby certify that this invoice shows the actual price of goods described, that no other invoice has be					v prohibited.	
SIGNATURE OF SHIPPER / EXPORTER						
Rahul Koul						



COMMERCIAL	INVOICE						
		REFERENCE	CURRENCY	INCO TERMS	DATE		
		10149-2	USD	EXW	12/26/2024		
SHIPPER / EXPORTER	CONSIGNEE						
SUNDARI LLC	Bethe Co. Lir	Bethe Co. Limited					
5445 Oceanus Dr. Ste 106B	DD104 Lot 3	DD104 Lot 3722, Pok Wai West Road					
Huntington Beach, CA 92649	Tai Shang W	Tai Shang Wai, Yuen Long					
United States of America	N.T., Hong K	N.T., Hong Kong SAR					
Tel +1 562 435 5000	86755285113	8675528511385					
COUNTRY OF ULTIMATE DESTINATION	IMPORTER (IF D	IMPORTER (IF DIFFERENT FROM CONSIGNEE)					
CHINA	Bethe Co. Lir	Bethe Co. Limited					
COUNTRY OF MANUFACTURE	Unit 83 3/F Y	Unit 83 3/F Yau Lee Center					
UNITED STATES OF AMERICA	No.45 Hoi Y	No.45 Hoi Yuen Road Kwun Tong					
INTERNATIONAL AIRWAY BILL NUMBER	Kowloon, Ho	Kowloon, Hong Kong SAR					
FULL DESCRIPTION OF GOODS	SKU	ML/G	UNITS	UNIT VALUE	TOTAL VALUE		
OMEGA 3 AND MANDARIN LIP TREATMENT (to be ordered in multiples of 12)	60048	12	1572	4.80	\$7,545.60		
HONEY AND ENZYME EXFOLIATING SERUM for All Skin Types	60015	29	72	16.67	\$1,200.24		
CANDLE - AMRUS	70015	170	48	15.40	\$739.20		
CANDLE - GULKAND	70016	170	96	15.40	\$1,478.40		
TOTAL NUMBER OF PACKAGES	SUB TOTAL \$ 2						
		LESS 30% DISCOUNT \$ (3,289.03)					
		LESS 5% REIMBURSEMENT 60048 \$ (264.10)					
					d (2.007.50)		
	Less Samples Order Value \$ (2,087.5)  TOTAL INVOICE VALUE \$ 5,322.8						
			TOTAL IN	OICE VALUE	\$ 5,322.81		
These commodities, technology or software were exported from the United States in accordance I hearby certify that this invoice shows the actual price of goods described, that no other invoice h					aw prohibited.		
SIGNATURE OF SHIPPER / EXPORTER							
Rahul Koul							



COMMERCIAL INVOICE							
			REFERENCE	CURRENCY	INCO TERMS	DATE	
			10079-3	USD	EXW	12/26/2024	
SHIPPER / EXPORTER	C	CONSIGNEE					
SUNDARI LLC	I	Bethe Co. Limited					
5445 Oceanus Dr. Ste 106B	I	DD104 Lot 3722, Pok Wai West Road					
Huntington Beach, CA 92649	-	Tai Shang Wai, Yuen Long					
United States of America	I	N.T., Hong Kong SAR					
Tel +1 562 435 5000	:	8675528511385					
COUNTRY OF ULTIMATE DESTINATION	I	IMPORTER (IF DIFFERENT FROM CONSIGNEE)					
CHINA	I	Bethe Co. Limited					
COUNTRY OF MANUFACTURE	1	Unit 83 3/F Yau Lee Center					
UNITED STATES OF AMERICA		No.45 Hoi Yuen Road Kwun Tong					
INTERNATIONAL AIRWAY BILL NUMBER	I	Kowloon, Hong Kong SAR					
FULL DESCRIPTION OF GOODS		SKU	ML/G	UNITS	UNIT VALUE	TOTAL VALUE	
CANDLE - AMRUS		70015	170	201	15.40	\$3,095.40	
CANDLE - GULKAND		70016	170	201	15.40	\$3,095.40	
CANDLE - CHAMELI		70017	170	48	15.40	\$739.20	
TOTAL NUMBER OF PACKAGES						\$ 6,930.00	
						\$ (2,166.78)	
		LESS 5% REIMBURSEMENT \$ (23)					
		TOTAL INVOICE VALUE \$ 4,52!				\$ 4,525.06	
These commodities, technology or software were exported from the United States ir I hearby certify that this invoice shows the actual price of goods described, that no o			-		•	w prohibited.	
SIGNATURE OF SHIPPER / EXPORTER							
Rahul Koul							



COMMERCIA	L INVOICE						
		REFERENCE	CURRENCY	INCO TERMS	DATE		
		10150-2	USD	EXW	12/26/2024		
SHIPPER / EXPORTER	CONSIGNEE						
SUNDARI LLC	Bethe Co. Li	mited					
5445 Oceanus Dr. Ste 106B	DD104 Lot 3	722, Pok Wai	West Road				
Huntington Beach, CA 92649	Tai Shang W	Tai Shang Wai, Yuen Long					
United States of America	N.T., Hong k	N.T., Hong Kong SAR					
Tel +1 562 435 5000	8675528511	8675528511385					
COUNTRY OF ULTIMATE DESTINATION	IMPORTER (IF D	IMPORTER (IF DIFFERENT FROM CONSIGNEE)					
CHINA	Bethe Co. Li	Bethe Co. Limited					
COUNTRY OF MANUFACTURE	Unit 83 3/F \	Unit 83 3/F Yau Lee Center					
UNITED STATES OF AMERICA	No.45 Hoi Y	No.45 Hoi Yuen Road Kwun Tong					
INTERNATIONAL AIRWAY BILL NUMBER	Kowloon, Ho	Kowloon, Hong Kong SAR					
FULL DESCRIPTION OF GOODS	SKU	ML/G	UNITS	UNIT VALUE	TOTAL VALUE		
Travel NEEM NIGHT CREAM	40001P	5	1200	0.50	\$600.00		
Sample BRIGHTENING GLOW TURMERIC OIL for All Skin Types	20004S	0.8	1000	0.35	\$350.00		
Sample ESSENTIAL OIL for Dry Skin Vial without card	20001V	0.8	1000	0.35	\$350.00		
Sample ESSENTIAL OIL for Normal/Comb Skin Vial without card	20002V	0.8	1000	0.35	\$350.00		
Sample GOTU KOLA AND LOTUS BODY OIL Vial without card	90038V	3	300	0.35	\$105.00		
Sample NEEM AND TRIPHALA BODY OIL Vial without card	90039V	3	700	0.35	\$245.00		
Sample NEEM AND COCONUT HAIR TREATMENT OIL Vial without card	90043V	3	250	0.35	\$87.50		
TOTAL NUMBER OF PACKAGES				SUB TOTAL	\$ 2,087.50		
		TOTAL INVOICE VALUE \$ 2,087.50					
These commodities, technology or software were exported from the United States in accordance I hearby certify that this invoice shows the actual price of goods described, that no other invoices the state of the state of the United States in accordance I hearby certify that this invoice shows the actual price of goods described, that no other invoices the state of the state of the United States in accordance I hearby certified the United States in accordance I h					w prohibited.		
SIGNATURE OF SHIPPER / EXPORTER							
Rahul Koul							